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Model diz%g&xer [%nﬁggr Thtﬁ gt;r&%ﬁrs of | Free Ierlgth Spring Constant g% | Usage I?ngth Load Init[al tfension
s (ﬁf) (ﬁfﬁ) '?r}q%z ?maran‘t): (N/mm) © (kgf/mm) ﬁ(ﬁﬁ)fg ﬁ}(ﬁﬁﬁ *J](?lx)j]
JB - 1 145 |{ 65 } 016 {0016 }[|{ 116 }
2 195 |[{ 75 } 012 (0012 }|[ 143 ]
310.20| 2.0 27.5 { 9.0 } 008 {0009 F}|{ 186 || {088} | {0.10}
4 405 |{ 115} 0.06 {0006 }|{ 255 |}
5 57.5 { 15.0 | 004 {0004 }|{ 346 |
6 145 [ 7.0 | 0.08 [ 0008 T[] 166 ]
7 195 |{ 85 } 006 [ 0006 ||{ 206 |}
8 |0.20 275 |{ 100 || 004 {0004 |[{ 270 || {074} | {0.06}
9 405 ({125} 003 {0.0037|f{ 374 |
10 575 |{ 16.0 } 002 {0002 ][f 51.1 }
11 14.5 { 8.0 | 014 [ 0014 J|{ 155 |
12 195 |[{ 9.0 | 0.10 [ 0010 }|{ 191 |
13 |0.23| 2.5 275 { 11.0 | 007 {0007 F|{ 250 | {1.13} | {0.11}
14 405 |{ 140} 0.05 [ 0.005 ]| 344 |
15 57.5 { 175 | 004 {0004} |{ 468 |
16 145 || 80 }| 023 [00247]|{ 146 }
17 195 |[{ 95 }| 017 [0.018f[{ 18.0 }
18 | 0.26 275 |{ 115 ]| 0412 {00131 ([ 234 || {162} | {0.18)}
19 40.5 { 15.0 | 008 {0009 ||{ 321 }
20 495 [{ 175 }| 006 {0.0067]|{ 436 |
21 145 { 85 | 004 10004 J[] 230 |
22 195 |[{ 95 | 0.03 [ 0003 ][ 288 |
23 0.20 275 |{ 11.0 | 002 {00027 |{ 380 || {064} | {0.04]}
24 405 |{ 140} 0.02 {00021 |[ 531 |
25 575 |{17.0}| o001 {0.001|{ 728 |
26 145 |{ 90 || 008 {0.0087}[{ 21.1 }
27 195 |[{ 100 }| 0.06 {0006 7}|{ 263 }
28 |0.23 275 |{ 120 | 004 {0004 |l 346 || {098} | {0.07}
29 405 |{ 15.0 } 003 {0003 "t|l 481 }
30 575 |{ 19.0 } 002 {o0002!t|l 657 }
31 145 |[{ 9.0 } 013 {00131l 201 }
32 195 |[{ 105 } 010 {0010 |l 249 |
33 |0.26| 3.0 275 { 125 | 007 lo0o007 V|l 327 }| {147} | {012}
34 405 |{ 16.0 } 005 [ 00051]|l 453 1|
35 495 |{ 185 } 003 {00031l 618 |
36 145 |{ 98 | 020 :1o0021 I[f 185 }
37 195 |[{ 113} 015 Too16 [ 229 |
38 |0.29 275 |1 136 | 011 To0o011 1|l 299 || {200} | {0.19}
39 405 |[{ 174 1| 007 {o.008 [l 41.2 ]
40 575 |{ 223} 005 {o0005"|f 561 |
41 14.5 { 10.2 } 031 {o0o032![f{ 171}
42 195 |[{ 118} 023 {0024 1|l 211}
43 0.32 275 |{ 143} 017 10017 T[T 273 1| {250} | {028}
44 405 |{ 185 } 011 Too012I[f 375 }
45 575 |{ 239 ] 0.08 {0008 |l 509 }
1N = 0.102 Kgf Load (N) = Spring Constant(N/mm) X Deflection (mm)

1IN (41) = 0.102 Kgf (F3%)

767 (N) = 3 EEEE (N/mm) X E45E (nm)
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